T304 5y i 2R * 1R
[iEEIE S A =N ki) WEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
| HA1~3TH B — | B (IR | —
FEAHT £ — | BEAR [T Rk ERT e - -
HHES1-2TH Dkcak(aE%: 7 40 1. 1 |77 e ¥ Y - -
AT LR X
1 JREEIREH PN o B X e 14 - - -
2 kFELIAt o s 40 | L1 24 — | —
B S HT AL P
1 EEECRERN 40 | 1.2 ﬁth@ﬁtﬂ% - -
2 _ERLEAA D HI 40 | L2 [fieLYETREE | —
TR b A X
1 FREEIRG R o B T —Ft 8.3 12 | —
2 LRELSt oo
(1) EERORERN 40 | L2|f 20F 3% @~ -
(2) kRSt HR 40 | Lz|F 8eF 14 —| -
JBE1~4TH Ece 40 | 1.1 - - - -
HEVIH 1 ~4 T B|&h — | B [ieuEEEE - —
JBET B — | B# -1 - - -
BT RRE S BT = SR BLHIT PN oD J= M XA —pil 7600 9.8 — —
HFREAA O i 40 | L1 g o173 | -
TR FH BT ] = SR B P oD = T M X A —p# 10 - — —
EFCLAS 0> iR
1 [EEHv 40 | L1fd o3¢ - | -
2 ERCEA s 40 | L1|f 18 — - —
FERT AL Kk 10 1. 1 |77 bk HET HL v - -
T LR Xk
1 RS o = A KO —{#t 8. Tﬁ& 12l - —
2 LFELh o g 40 | L1 23 33%0 1.8l 1.8
FTE] % SR BT PN oD S A I 8o | - -




S AZ3045) i = X 25
[iEEIE S A =N ki) WEREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
B 1THT RELLLA o it 40 | 1L.2|% 21 - — -
T Eceiid 40 | 1.1 e T
Z e ~p ] [ikcak (e 40 | L2 (Wil | —
AT LR X
1 JREEIREH PN o B X o8y - - -
2 kFELIAt o s 40 | La|h 21 - | —
\ | A7 SERT AT 40 | L1 ([irkugERRE | —
AT AR X g
1 REEIRBE I PN oD [ ﬂSJf 3 | -
2 LSO K 40 | L1|d g 22 | —
F [RIBTHT Eee — | BRAR (TibbMETREEE O | —
Fi [RIRT B — | B -1 - A -
H-BEHT [EEEIE (A%
1 R — | B (HibtuETREEE - —
2 LRELIA o Mt 40 1. 1 [T ELHET HL Y - -
A LR R
1 REIRE RN o 2 T K —d 7o 12— —
2 LELUS R 40 | 11| o8 41— —
—RHT it SR BT PN 0D J L 35 —t 9.3 200 —| —
ERCLLSR oD Hirksg 40 | L.1|% 18f 408f 1. 8%k 1.8
T EoT 30 | 1.1k 6.5 94ﬂ:ajz3A
iy b I - E%%$m@¢m@ -1 -
A AR Kk
1 BEEEREHIE P o A K0
(1) EE 8 Fikv — 4 - - —
(2)  _LEELASh DML —o13 — | =
2 ERRES O HE
(1) EhE8Hikw 40 | L1l o4 - - -




T304 5y i 2R * 3H
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| BZET (2) EE1575KB 40 | LilH o4 - - -
(3) EFLAS ORI 40 | L1|b o3 - - —
FHoEr ML 40 | L1k - | —
AT LR X
1 JREEIREH PN o B X o8y - - -
2 kFELIAt o s 40 | L1 o2~ | -
AT Fo S B PR oD F R L X TS B R IR
_EFRLASh o> it
1 EERV 40 | L1|# 3d - | -
2 LSO K 0 | Li|d o2 - | -
5| PO HRET 2 S L b ok PN 0 PR Y L R T T B
ERLEAS O i 40 | L1|% 100 — — —
BRESHT [EEEIE (A% 40 | L1 |HiRiETEEHE | —
[iReaR ok dme
1 REIREHRIE N 0 B —fei 8.5 - | -
2 bRELSt o 0 | LifF o4 - - -
3| KAPTHT A X 40 1. 1 (77 b 2B e HE - -
L I 40 | L1 8.3 13 | —
/11 BT it SR BT PN 0D J L 35 —Jiti 7. 6Ez .8 - -
ERCLLSR oD Hirksg 40 | L1[P 13 14 — -
R gt 30 | 1.1 [ 9.7 145 3.9 3.9
ZFLHT P 4R LM P oD 7 o R i IIE 13 - -
ERCEASS D 40 | L1[P 21 22— -
2 EceT 30 | 1.1 9. TiRE 2200 3. ol 3.9
/INEIET [ER(AEes 40 | 1.1 ‘rﬁtI:?%EtI:@ -1 -
T (LR X
1 BRI PN o B M K el 8. 3pn 11l | —
2 kLSO 40 | L1 22 31ﬁm 1. 8fti 1.8




S AZ3045) i = X 1H
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
o EEFTLTH Eein 40 | 1.1 [fHMEEHEE - —
EET iz R AESE 40 1. 1 |77 bR HET HL - -
AT {L A X
1 BRI N 0 B A i X —#l 7.6 — — —
2 EECLIA oD 40 | L1|P 29 — — —
BT g 40 | L1 e s
KT Ees — | BR (TUEREE | —
1 ST [eEcR (A= 40 Llﬁ%@gwﬁ -1 -
T LA X ek
1 REEIRS kN o B2 A X I —t 78t 100~ —
2 hEEA o i 40 | L1|% 15 21 — —
FRET e 40 | 1.1 e s
R KHT IR 30 | L0 5 9 9. orﬂ 2. i 2. 4
/T L P 40 | 1.1 ‘rﬁtl:“@EEtti‘% -l -
T L X
1 REEHRBAI N O 2 A i 7o 74— —
2 _ERCEA Ot 40 | L1[f 18 15  — -
LAHEFAT i SR B I PN oD R PR M R —f 10 - | -
LFELIS O HiH 40 | LifHm o - - -
LR HHET = SR B P oD = T M X A —#t 7.8 - - —
FCELA o> Hitik 40 LL.1|H 15 - — —
- EpHT Estcn 30 | 1.1 (W 5.9 9. O 2. 40 2. 4
Rz PR A5 B b gl Y oD JE FH e Xk —E 11 - - —
LIS o i 40 | L1 o2~ | —
bz HET e R BT PN oD o P i DU ot 7ol 7.8 | —
_ERELA o> it
1 BoBEEKR - KE - EB)IBBW 30 L1 24 25 - -
2 kLSO 30 | Li|h o 1gh 17 | —




SAZ304 53 s ® K 5E
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
oy TS ET Eein 30 | 1.1 [ 5.9 9. OFdi 2.
FWNET (F&H]) ESPERTEL 30 | 1.0 [ 6.0 7&&3&&
LELIA 0 HE 30 | L 1[F0 6. Of0 7. 90 3. 0ff
&| L&A AL X 40 | 1.1 - - -
[iRcaglor | dEe
1 FESEIRGEH PY oD f F Ml X 1t 7.6 -1 -
2 kLo 40 | L1 16 - -
AERRHT [EEcaRIAESET — | B ThihEERTHREE —
T LA X ek
1 R R sk PN 0D SR X Js et 14 -1 -
2 hEEA o i 40 | L1|% 24 — —
dbzmEl - 2TH |2 — | Bl (TibuefieE | —
JbZz HHT Py L TR 22 FH i T o - ot X T s | fER fEm - -
AT BXI8
L K
1 Bl g — | BEAR (TilbMETLEEE | —
2 LR ot 40 1.1 Fﬁtti’é\ﬁﬂsfﬁ - -
AT AR DI
1 REEIRME N o B A Hi X I —R 1R 14 | —
2 LR oM 40 | 1| 19 23 | —
S Exiin 30 | 1.1 | 6.5l 9. 45 3. 45 3. 4
<| EHET (R (AES: 40 | 1.1 — - -
A AR K
1 BEREEREHIEN o B MR — 8. 12— —
2 LReLSt ootk
(1) EBHITERV 40 | L1[d 19 35— —
(2)  EFELASOHIR 40 | L1|% 12t mﬁlﬁﬁlﬁ
F¥1~10TH |[HHHLRE — | B (HiltuEfTEE - —
T A X dk




TS B ' X 65
i RKET A4 - gl IEREE
p| 7 TR aRe  E W % A e T Tk e | s [
< gx1~107T8H 1 BRI 00 I P s s I I
2 EEEA O HI 40 L1|#H 33 — — _
BAF2TR v — | Wi (it | —
FERET L K 40 | 1.1 N e
AL X I
1 BRI P o M A B I N
2 kREREAA o i 40 .14 1§ — — —
25 I 30 | L1 11 23 2. 40 2. 4
V3| RIETET P FE R TR N oD i A R —st 10 - — —
ERLLASN O i 40 | L1|% 27 - — —
55T B iy P 1k 40 | L[l | -
T A R ik
1 REEREHIRN O B R —f 100 — — _
2 RIS MR
(1) HEEBRV 40 | 1.1|% 280 — — _
(2) FERW 40 | 1P 18 - | -
(3} _ERRCIAOHEE 40 | L1|+ 18 - - _
T| AHEEET g AEe: 1 40 | L1 [ERYERREE - —
AT LR X 5
1 BREEIRE RN o 2 A X5 —fd 10 — — _
2 LFELIA o e
(1) EERGEERW 40 | 1.1|% 3¢ — — -
(2)  _EFEEES o 40 | L1fdh 19 - - -
SEEAET (ke |qEs= — | BRAR [hLLET R | —
T LR Xk
1 SR o 2 F X 15 Y. I IR -
2 EFLLA O 40 | L1l o2 - A -
- % SR BT PN oD S A I i 8.8 | | —




S AZ3045) i = X 7H
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Z| 5 T FRLLASR O Hi 40 | L1 o194 - | -
s RHT PR 5 B 35l PR D 22 )t R —p 12 - — —
LELEASN o i
1 EiEswy 40 | L1fH 39 - - -
2 EECLIA oD 40 | L1|% 18 — — -
F AT b K — | BEER (TiiuETLEE | —
AT LA DI
1 FRETRBUME o B A Hi X - - |
2 kLRELSt oo s 40 | L2+ 20 - - -
S| wLHET TR R
1 REBN 40 | L1 [diskugiRE | —
2 LFEEIA o M 40 L. 1 [fT L HET P HE - -
A LA Ik
1 IR MR o B2 T i Ik —d 8.3 13—  —
2 LEELUSh O iR 40 | 11| 22 3300 L. Sfl 1.8
= ETET b PO 40 | 1.3 ‘rﬁrtz%rrﬁtlzi‘j -1 -
T LA X
1 BFEREHIRN O R A KR —ft 8.5Fﬁ 1y - —
2 _kERLIA o Hi 40 | 1L1|#F 14 228 1.8% 1.8
U -LJRET R Az 40 | L1[fiewg - - -
AT LR Kk
1 BEIRBUBIER AN o 22 A DX —t 8.5l 9.3 —| —
2 ERCEA s 40 | L2(f 21 25 @ — -
CERET o SR B P 0D o P L UK ot 6.4 760 —|  —
RERLIA O I 40 | 1L1|f 13[: 14— -
EARZ2TH E=eh 40 | L1 e s
SeRHT L Kk 40 1.1 | b T e 3 - -
AT LR (X I8




S AZ3045) s ® K 8
i RKET A4 - gl IEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
U s | ARSI 0 B RO R P s e I
2 ERLIS 0K 40 | LifEo2p - - -
= HET ok SR B HILIE PN D [ P i Kk —f 7.7 — — —
LIS o i 40 | 11|k o158 | | -
TAASFET i Ik 40 | 1.1 |Hitk¥ERHEE -
AT AR K ek
1 SRR o R A ! I R B
2 ERRLS O HIEL
(1) EEHR 40 | 1w o3 - | -
(20 _BEPAS O 40 | 11|k 16 | | -
=1 IR 30 | L2(d 11 23 2. Ot 2.0
B LT T Rk 40 | L1 |Hitk#ERTERYE — -
AT AR X
1 IR MR o B2 T i Ik —f 8. T 13 | —
2 RSO MR 40 | L 1| 14 200 185 1.8
R ET £ — | AR (LAY | —
¥E1~4TH g - &%ﬁﬁm%ﬁmﬁ -1 -
1 ARKAL - 2TH I — | BEAR [l HEdeE | —
RIEET L R 40 | 1.1 [WEEMETRENE - —
L A X sk
1 BEEREURIE P o B A HE K —pot 8. 21— —
2 FERLISh o 40 | 11|k o9 4| - —
HHET PR A5 B b gl Y oD JE FH e Xk —p# 10 - — —
LELEASR > iR 40 | L1|% 18 — — —
R EiE15 75y (BE3 13FM1~E507 30 | 1.3 9.7/ 1450 3. 9l 3. 9
B ET)
HEEIEANGS: F 30 | 1.1 9.7 148 3. 9% 3.9
RARSFHT R SR BT PN D 2 T M X I —i 12 = - —
LERLIS O i VO U ) | e R




S AZ3045) i = X I
i RKET A4 - gl IEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
| 401550 M S AR 00 R - P e I
EFELIA D Mtk
1 EEHGESR - F2) - MRV [ 40 | L1 26 4600 1.8l 1.8
2 _EILISN o HE, 40 | L1[|f 16 zsf@ 1.8[: 1.8
FEJ1mT b X 40 | L1 [Mitk¥leE — -
AT AR K ek
1 R N o B A Hh I — 9.4t 9.5 |  —
2 ERRLS O HIEL
(1) EEHFESR - R - DRFRRO 40 | L1 24 2450 1840 1.8
FE A - S RRBE
(2) LRSS ORI 40 | 11| 15d 15%E 1. 85 1.8
B HT b X
1 FEHMGESR - Bl 40 | L2 [ftk¥EmHE | —
2 LS o 40 | 11 [fikEeE | —
AT LR X
1 EEERE M o B XK — 8. gl 13 — —
2 LFELh o g 40 | L1 23 33%0 1.8l 1.8
7| PTRAET ALK 40 | 1.1 FHJ:I:‘Z%FFEJ:I:ZJ -1 -
A b AR X g
1 REERBE R o0 B A il O it 9.3l 9.8 | —
2 LS R 40 | L1|F e 17 | —
FA BT SR B IR P oD B R —f#t 8.4 — — —
ERLEAS O i 40 | L1|% 18 — — —
J= BT e — | B (HELUETTEEYE | —
M ST et — | MR iR LR — -
| FSSEHT T i 40 | 1.1 (Hitk¥E  —[EUET R EE
T L X
1 BREERFHEAN 0 B T i I —t 8.3 — - -
2 LU O MR 40 | 1t o1 —fef 1.8 1.8




TRRI0ME S} s ® K 105
[iEEIE S A =N ki) _ MEREE
T'Ebfﬁ O ke E m w A ey ngiﬁﬁﬁuﬁﬁ%ﬁ {ff R
t #%E1 - 2TH e SR U, DU o B I I
RENT AL K i — | B [k | -
AT {L A X
1 EREiR B s Py o 2 R il KO —t 9.5l 23 | —
2 FERLIA O 40 | 1P 21fF 41 — —
THREB1~8TH &k 40 | 1.1 — _ _ _
TRER1I~6TH |2k 40 | 1.1 N e
FREFFEL - 2TH |20k ol L1l o o 4 -
o A RHET Ik
IR SR 40 | 1.2 Fﬁthi’élinittiéﬁbtiéﬁtt@
2 hRLMN oM 40 | 1.1 77 YR B YR R R e
A AR K
1 JRFEHRE G o 2 A DO —4 8o 13—  —
2 hREELLS o> Mgk 40 | L1|F 22fF 358 1.8 1.8
Bk A ET [ERER A — | B — - J;tm[;ﬁ H 7
AT L X 40 | 1.1 ! 1,8rm 1.8
RS HT [iiRcx a4 — | B# —| |k
A LT R 15k 40 | 1.1 — — — —
Bk K EET b P — | B (e | —
A LT X ik 40 | 1.1 — — - _
B3k L RET EY — | B N L L
Bk S ST Eren 40 1.1 _ — _ _
{5k T ST 215 B e S R N
CRS Ty £ S I I I N
FRIE RET [k A — | B — (17 b T L M L
M RS K 40 | L1 —F 13 1.8k 1.8
Bk HEr [ikczp (s — | B# ﬁtl:i’é[ﬁbt;@f:‘bh@
AT LR K 40 | 1.1 — —ﬁm 1. 8ffi 1.8




S AZ3045) i = X 11E
i RKET A4 - gl IEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
| ok A ARET [ikcaklaES: —% E@%ﬁ{ﬁ f?ﬁtti”gﬁittéﬁittiél ’
A% I
1 EEEIRS M o 2 Hh K — g 13— —
2 FERLS O HiE 40 | 1L1|F 23’;:j ssr@ 1.8r@ 1.8
#ok A ERET i Ik — | B# — |7 P T b T b
AR KR 40 | L1 —|H 3T 1.8l 1.8
kT B — | B# - — — —
BoRART1~3TH |2k — | B - - - —
BRARTATH Ik — | B (i LT PR L YR PR TR
AT LA X 40 | L1 — r@ L. 8ffi 1.8
koK T Eeitd — | BB ihEERTEREE -
BRAKFHET 2 ~ 4 T B2 — | HEHR |EeHEERTELYE — -
C| HE AT ik S B A P D f2 B XS —ti 7.eE 7. | —
RERLAA D Hitke
1 RiEiRw 30 | L1|d o2k 22 - —
2 EERLA o 30 | L1|ho o140 - —
FHET A X
1 REHRAM — | B [HEETEE — —
2 LRSS OHIR 40 | 1.1 [dRYERIE - —
T LR I
1 BRI P 00 B A K —pet 8. TE 21— —
2 RERLS O 40 | L1[F 22 37 —| -
&| BEESFRT b gk 40 | 1.1 |fth#E - - -
AT (LA Xk
1 ERRER B PN o 2 R il s ot .o 9.3 —|  —
2 LERLS o 40 | L 1|9 23 254 1.8%E 1.8
TRESLIT [ikczp (s — | BRAR [kHETHLEE -
AT AR I




S AZ3045) i = X 128
i RKET A4 - gl IEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
b st | PRI O R R O G P« e I
2 ERLIS 0K 40 | L1[f 39 46 | -
e fr SR LIS PN oD f P L Bk —l 9. 2B 15 | —
LIS o i 40 | L1 16 23% 1.8 1.8
T EaeiA — | B# - — - -
EERT ML 40 | L1 T s
AT LR 40 | 1.1 s e
7| BT [EEcaRIAESET
1 SRR — | BEHR [hibEERTERYE — —
2 FRRAA o it 40 | 1.1 |HikkEERTEE S — -
TR AR X g
1 REERE N o 2 A O —o21  — | -
2 hRELSt R 40 | L1 o3 -~ =
AR EPHT =ty 40 | 1.1 - - - -
th E5 BT IR FE IR BLHIIR N D J= M X3 —|#t 8. 3% 13— -
ERELAS 0 Hit 40 | L1 12ff 208 1. 8% 1.8
Fe B5HT B TR LI PN oD 2 T X —fl 8. Tl 8.7 —| —
LRCEAS: oD Hsg 40 | 1L1|F g 12— —
HASET AR AT it SR BT PN 0D J L 35 —ft 1l 13 - —
ERCLLSR oD Hirksg 40 | L1| 28 28 @ — -
=TT ML 40 | L1 [ftb¥EAHLEE —| —
A AR Xk
1 BEHRB I A o0 B A K5 —pt 14 - — —
2 LELEUA oo
(1) EE R OURGER 40 | L1 o3 - | -
(2)  EFELSOHI 40 | L1lH 260 - - -
fEk1 - 2TH e — | BSER |ilbuglLEy | —
17 HRHET % SR BT PN oD S A I L I R




S AZ3045) i = X 138
[iEEIE S A =N ki) WEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
72 W BET ERLAS o 40 | rL2lf 23 - - -
T Ecti — | B - — — -
Xol1~3TH |8 — | BRAR (TilkdETLEE | —
FRET [k (A% — | B (s | —
[iRcaglor | dEe
1 FREERBE N o B A Hh O —ht 18 - - -
2 kLo 40 | L1 o33 - | -
(2 P 1~3TH IR 40 | 1.1 o
FaARAT g’ 40 | L1 T s
PEHTHT ks — | B -1 - A -
EERE1TH IR 40 | 1.1 e
[EESRE ST e 40 | 1.1 T s
PR SEHT [EEEIE (A% 40 | L1 |HiRiETEEHE | —
[iReaR ok dme
1 REIREHRIE N 0 B R T I
2 kRS OHIR 40 | L1ffo17do27 - —
M fiTil - 2TH g — | B (edEfREE S - —
ol BATFET g AEe: 1 40 | L2[fikkE - - -
T LR I
1 BREEIREME P 0D B T i — 8.4 - - -
2 EELA O HuR 40 1|9 30 - — —
i #»1~3TH Eeei) — | B (IR | —
A& JTRTIHT = A B N oD 2 P L DX —d ML 14 - -
LECLAS 0> itk 40 | L1|9 23% 23  — —
1@ VBT [k A 40 | L1 |hieiEfE | -
T (LR X
1 BRI PN o B M K el o13pn 19 | —
2 kLSO 40 | 1|2 27 | —




S AZ3045) i = X 148
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
V| AT b I 40% 1. 1%Fﬁttzfgﬁn‘tti’§ - ’
A L Xk
1 PSSR 0 B A K IR e oe.7pn 100 | —
2 FELS o 40 | L1 ot 26 | —
JAHHET b Xk 40 1. 1 |77 bk HET H ¥ B e EE v
AT AR K ek
1 SRR o R A —i 1ot 12 | —
2 RELEA o 40 | L.1[¥ 14Ej L7} 1. gh 1.8
J\HHT (o9 40 | L1 | 1B 3200 1.8k 1.8
R S 1A B AR PN D JR X0 —too. el 16 | —
LFRLLA o Hie 40 | L1|4 18 32[@ 1. 8 1.8
BH1 - 2TH B — | Bl (TibuefieE | —
ZEIEHT [EEEIE (A% — | B (T LT b Y e T P
[iReaR ok dme
1 REIRE RN O 2 A O — 12— | -
2 bRELSt o 40 | LifF o33 - - -
Z HHET A X 40 1. 1 (77 b 2B e HE - -
A LA K ik
1 REER AR PN 0 2 K —f 74— - -
2 _ERCEA DR 30 | L1|h 18— - —
O H—FM A2 — | B - - - -
AT Ecei 40 | 1.1 - - A -
RN i — | BE# — - - -
FRTET £ — | B -1 - A -
T e — | B = i s
R_HA E=eh 30 | L1l 9.7kl 140 3. 9%G 3.9
SR EFHT ESEY 40 | 1.1 e
H 7Ry AL 40 | 1.1 ‘rﬁrtz%rﬁtlsﬁ -1 -




S AZ3045) i = X 158
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
of f 7T L, i I I I
1 BEEREUIEL P o B A X —8y - - -
2 LEELIS o 40 | LL|F 2o — - —
BHEL - 2TH |2 40 | 1.1 [t | —
A AT R ez 40 | L1 [hkevEnee - —
AT AR K ek
1 SRR o R A —i 8.3 | | -
2 _EFLEISF MR 40 | L1 o2 - | -
ey [iEEcR A — | B (HAETLEE | —
TR b A X
1 FREEIRG R o B T —Ft 8. e 16 | —
2 hFELUAt oo sk 40 | 11| 2o 41 | —
SPEAHET ik PR 40 | L1 [HCYEREEE - —
[iReaR ok dme
1 BREERE M 0 B O —f 1ofE 11 - -
2 bRELSt o 40 | L1[P 16 24 - -
SEARHT [iiRcx a4 — | BB (MiltuEfTEYE - —
A LA K ik
1 RRREHR N O 2 Al b —o1 - - =
2 _ERCEA DR 40 | L1|P 20 — - —
JEHERT £ 30 | L1 5. ol 9. O 2. B 2. 5
5o BEHRHTHT Ecei 40 | 1.1 e T
& IESFHT PR A5 B b gl Y oD JE FH e Xk —pE 13 - - -
LECLAS 0> itk 40 | L1|9 200 — — —
TEATET R AR BT PN o S 0 i 8.5 | - —
_EEELIAN 0> itk 30 | L1|b 1§ — - —
g ke (s 40 | L1 |Wilk¥EREE | —
AT LR (X I8




SERR30E Y i 2R * 165
i RKET A4 - gl IEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
) AT | PRI O R R O A R P S I I
2 ERLIS 0K 40 | L1[f 20 23 | -
E¥EE1TE R 40 | 1.1 e
KT AL X 40 | L1 [hiERRE - —
A% Xk
1 FREERBE N o B A Hh O —h 1R 11 | —
2 REOLISh o HiE 40 | 11| g o1 | —
TEIRHET I L TR T e X i R B e B A T X I fEn | @Rl @] — -
MR LK 40 | L1 [iekvETREE | —
TR b A X
1 FREEIRG R o B T — 1 13 | —
2 _EFLSh oM 40 | L1|F ouFE 17 | —
BRI 1 - 27TH e 40 | 1.1 - - - -
FRAHT % SR B HIER PN oD 2 T M X —ffd 9.1 - - -
ERLEAS O i 40 | L1|% 15 — — —
#IZ1~5TH Ex: — | B ‘rﬁrtz%’ﬁ?tti‘é -1 -
HIPSELT] Tk Xk 40 | L1k - - -
AT LR K
1 REEIRS M PN 0D 2 i — 8.4 — — -
2 _ERCEA DR 40 | L1|% 28 — — —
AT EiiA — | B - — — -
VE LAY b I 40 | 1.2 1 - - -
LR R
1 BEEEREHIE P o A K0 o - - -
2 EEUS O
(1) BEaEfHme 40 | LilH 24 - - -
(2)  EFESt ok 40 | 1P 17 | | —
L5 FLET Fo SR B PR oD o P L X —t 9.1 | | =




S AZ3045) i = X 178
i RKET A4 - gl IEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
(F LT LFELISY o> Hittel 40% 1.1FétlJ 1§ B ’
| FRAHT T b Kk 40 | 1.1 |Mkh#EmEHAE — —
AT {L A X
1 EREiR B s Py o 2 R il KO — oo o1l | —
2 _EERLISh oM
(1) BREAA - ARERGW 40 | L1k 20 33 | —
(2) RSO HE 40 | 1.1|h 16 27l 1.8l 1.8
A =T ML — | B ThihEERTHREE —
T LA X ek
1 R s Py o B A I o1 o1y | —
2 hEEA o i
(1) EEHFERE - T/ ZRED 40 | L1|F 33k 33 |
(2) BSEFA - =R 40 | L1|F 28F 26 —| —
(31 kR HiR 40 | L1|F o9 19— —
IS H] Eeei — | B |hibEERTEEYE - -
K AGET [iEkeplaEe — | AR (LYY | —
T LT X 40 | L1[f 22F 41 - -
EJNE4d) Eeei — | B [HEETEE — —
%) [ #h=28] BN — | B [lbMELE | —
ENE) Eeei — | B [ EET e — -
EJES Sy N — | #i [FeEEE - -
%1 hET [k kIAES: — | B (LEMERLEEE | —
T TR X
1 BEEEREHIE P o A K0 —t 8. g 200 | —
2 LELIS o i, 40 | L2k o 4| | —
KT E=:1 — | B [Tk | —
%JIEgnT L Kk
1 B s — | B# fﬁtt%%rﬁtt@ - -




S AZ3045) i = X 188
i RKET A4 - gl IEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
A ) FIHT 2 bRELS oK mﬁ Lf$m£ﬁm£ a4 ° ’ ’
A% I
1 PSRN o 2 A Hh K — 1o 200 | —
2 _EILISN o HE, 40 | L1 oegf 41 | —
E ) AERT i Ik
1 FOBEEER - AR - EIRRB W 40 1.1 | e b i - -
2 _RELLISh o HiE 40 | 1.2 FﬁttZ'él:n;tI:Z’é - —
AT AR X g
1 REEIRBE I PN oD [ —L 7.8p 18 — -
2 LSO K 40 | L2|d 20p 41 | —
ESNEnbE) b X — | BB ihEERTEREE —
T A R ik
1 REERE MG o 2 DO —t 9.5 16— —
2 _ERLEA iR 40 | L1|F 22F 41 - -
FERT E=2: — | B# -l - - -
EREFHT Ex: 40 | 1.1 - - - -
b =1 A X 40 1. 1 (77 b 2B e HE - -
AT LR K
1 RRREHR N O 2 Al b —l 8. gf 100 —|  —
2 LA o g
(1) EERUCEER 40 | 1L1|H 21 258 - -
(20 ERELS oI 40 | L1|H o1k 13 - —
AFIE1~6TH A1 40 1.1 — — — -
K YEAT It (AESE 40 | 11 [fikEeE | —
T LR Xk
1 RS o = A KO —#l 8.6 — — —
2 ERRES O HE 40 | L1|F 17 — — —
) AT




SERR30F 4y i = X 198
i RKET A4 - gl IEREE
Do (rR) ks W W om0 w4 P08 FERERTIELETSERS
% = & @ & . @
A JEET 1 - Hom
(1) EEHFERW 40 | 1.3 |Hih¥EEHEE  — —
(2)  LFELSOHRL 40 | L1 [iERvERERE - —
2 LELSh o 40 | L1 [fitk¥iiE - —
A% Xk
1 RS HIER A O R H X —t 7. 880 15 — —
2 REOLISh o HiE 40 | L1 mE T I
E845:1) ML — | B (itbdEfTEEE | —
T LA X ek
L FREERE Py o R Y h X e | I I R
2 _LRLA ok 40 L1817 _ _ _
B kBT T Rk 40 | 1.1 [ditedEdiERE | —
AT L
1 R Hlgep o P 0 K B w1 | o -
2 LRELIA o Mt
(1) TERE « B EOFRI 40 | L1|% 27 - — —
(2) kRSSO HE 40 | L1|+ 18 - - _
"2 KET (ke |1
1 BRHRME e — | B [lbMELE | —
2 LRELSA DR 40 | 1.1 [edEfHE - —
AT LR Ik
1 BERHIRN O B XK —ft 100 — — —
2 _LELA o Mgk
(1) HERE - & EIOBIRY 40 | 1L.1|% 28 — — -
2) LSO 0 | Lifd o1y | o —
= AT ez 40 | 1.1 - = 4 =
B AR Eer 40 | 1.1 — _ _ _
EARET Al I 0 | 1.1 ﬂ?ﬂ:?%"rﬁtl:i’é _ _




S AZ3045) i = X 208
[iEEIE S A =N ki) WEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% = % @ o " M
| ORET AT LR
1 BEEREUIEL P o B A X —Wl 8.5 9.3  —| —
2 LELRIAA oI
(1) REARE - EJFRBW 40 L1|f 21f 22 - -
(2)  _RFELASR D Huk 40 | L1 1k 1M | —
= FLAT A I
1 B g — | B [ibbdEEREE | —
2 _EFLEISF MR 40 Llﬁ%@gwﬁ -1 -
T LA X ek
1 IR P o B DO —to1 - - =
2 hEEA o i
(1) EEHv 40 | L1|F 59 — - -
(2)  EFESAst o 40 | L1l o238 - - —
= =hT ot — | B (HibtuETREEE - —
Bk Y [EREa AR
1 T 40 | L2ty - - —
2 _ERCEA Ot 40 | 1.1 |hihHE - - -
AT LT R 5
1 REER AR PN 0 2 K —fi 8.3 —| - -
2 _ERCEA DR 40 | L1|% 23 - — —
ol [ ST AL K i 40 | L1 [ftb¥EAHLEE —| —
AT L R s
1 BEHRB I A o0 B A K5 —p# 10 - — —
2 LS o 40 | L1|H 14— — —
R FHBTET R AR BT PN o S 0 o .ot 18 | —
_ERELA o> it
1 FEHGESR - E2) - ARG |40 | L1 25F 49 — —
2 kLSO 40 | L1 e 3¢ | —




S AZ3045) i = X 21 E
i RKET A4 - gl IEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
Fol FHFEL - 2TH N —% E%ﬁf%?ﬁttfgfﬁtti”g f f i
R AT T b Kk — | BRR (HILMEEHE - -
AT {L A X
1 EREiR B s Py o 2 R il KO —At s 17 | —
2 _EERLISh oM
(1) EEECRERN 40 L2 40 42 - -
(2 kRSO HIR 40 | 1L.2|% 29 26 @ — —
W X1 ~4TH I 40 | 1.2 [HikHE - -
H| FREHT Ik
1 AIRREEROECS - 0E 40 | 1.2 [Hiteny - -
2 RELEAAA oot 40 | 1.1 [dibkHE -1 -
T A R ik
1 REEREHIRN O B R ot 8.4 — _ _
2 hREELLS o> Mgk 40 | L1fF o2 - - -
R REEEHET T i 40 1. 1 [T ELHET HL Y - -
T LA X b
1 BREEIRE M 0D B T i —fit 8.5) — - -
2 _ERCEMA O 40 | L1|% 14— — —
72 AT Bt — | B& -1 - - -
E=L R SR B P oD 2 P M X3 —l 8.6 9.3  —| —
FRLAAR 0D ik 40 | Lt|do g 24— -
NHFE1~3TH |2k 40 | 1.1 e T
I\ ST Eeei — | BRR (ILMHE — -
N RET it — | Ko [LbENTLLTE 0 — -
JNEET AL i — | BRAR |7 T P YT F T Y
T (LR X
1 FEEHREL MG P o B A M K — 8. 1pE 12 — -
2 kLSO 40 | L1 18 23ﬁ1ﬁ 1. 8fti 1.8




1.
YN

P304 5y H =R * 20E
jfamﬁﬁ:amm _ m&m%ggﬂ_
SR ks w0 W e w4 [P PERERTIEEETA RS
A IWEB1~6TH  [M#bER 40% 1.2%Fﬁttzfgﬁn‘tti’§ a4 ° ’

LR Xk 40 | Lifpoz2y - - -
E| ARy Exs — | B -1 - A -
REITET P L PR T T o X e P e 3 A T XUk Bl | ER AEER — —
i Kk 40 | L1 [hkevEnee - —

AT AR K ek

1 SRR o R A TS B R IR
2 _EFLEISF MR
(1) TTERRIT - AR AR 40 | L1|H o230 | | -
(20 ERELS OIS 0 | L1|# o1y~ | —
HERT ES4Ey — | B - - A -
& mAT S B b sk PN D R P L R 1 A T T

ERELASN 0 HiU 0 | LifF 15 - - -

HEF EEei: 30 | 1.1 6. 4 9. 4l 3. 450 3. 4
Py A iy E=2: — | B# -l - - -
pu - BT o S B A PN D J —ti 9.3 —-| - -

RFRLAA D Hitks 30 | L1|h 18— — —

KAKET g AEe: 1 40 | 1.1 [Mtk¥EdTERRTE | —
A LA KR

1 BREEIREME P 0D B T i —d 8.6l 9.3  —| —

2 LERLUt oM 40 | Lt|d e 18 - -

RSeHT R R BT P 0D B I —fti 780 —| | -

EFCLIA 0> Hitkk 40 | LLfF 1y - - =

FRARET ot 4R B LI P o0 fi P L K —ft 9.1 — — —

RIS iR 40 | L.1f#d 18 - | —
bl #®1~3TH £t — | BEAR (TiiuETILYE - —

ERELst gt 30 | 1.1 |# 6. 00 9. Ol 2. 3k 2. 3




